
(Unit 2 : Theory of Cost)

(Learning Outcomes)









2.0 (COST CONCEPTS)
(Accounting Costs and Economic Costs)

(1) 
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(Outlay Costs and opportunity costs)

(Direct or traceable costs and
indirect or non-traceable costs)

(Incremental Costs and Sunk Costs)
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(Historical Costs and Replacement Costs)

(Private Costs and Social Costs)

(Fixed and variable costs)

(COST FUNCTION)
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(SHORT RUN TOTAL COSTS)
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9 

TC = TFC + TVC 
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TVC

TC TVC

(slopes)

(Short run average cost)
[Average Fixed Cost

(AFC)]–
[Average Fixed Cost

–(AFC)]

AFC TFC
Q

  Q 

2,000 
100 

20 
200 

10 

[Average Variable Cost (AVC)]––

AVC TVC
Q

  Q 

[Average Total Cost (ATC)]––[Average Total Cost (ATC)]
ATC = AFC + AVC

[Average Total Cost (ATC)]

AVC AFC 
ATC AVC AFC 

ATC AFC AVC
AVC 

10 

© The Institute of Chartered Accountants of India



AFC ATC 
‘‘U’’ 

10)
(Marginal Costs)(Marginal Costs)

‘t’ 
(Marginal Costs)

t - 1 t 
5 200 6 

250 250 200 = 50 
24 320 10 [(320 – 200)/(10 – 5)][(320 – 200)/(10 – 5)]

MC = 


TC
Q

TC = Change in Total Cost
Q = Change in Output
or
MCn = TCn – TCn–1

‘U’ 10)
2 

10)

2 : 

0 1000 0 1000 — — — —
1 1000 50 1050 1000.00 50.00 1050.00 50
2 1000 90 1090 500.00 45.00 545.00 40
3 1000 140 1140 333.33 46.67 380.00 50
4 1000 196 1196 250.00 49.00 299.00 56
5 1000 255 1255 200.00 51.00 251.00 59
6 1000 325 1325 166.67 54.17 221.83 70
7 1000 400 1400 142.86 57.14 200.00 75
8 1000 480 1480 125.00 60.00 185.00 80
9 1000 570 1570 111.11 63.33 174.44 90

10 1000 670 1670 100.00 67.00 167.00 100
11 1000 780 1780 90.91 70.91 161.82 110
12 1000 1080 2080 83.33 90.00 173.33 300
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(i)

(ii)

(iii)

(Relationship between average cost and marginal
cost)

(1)
(2)
(3)

10

(LONG RUN AVERAGE COST CURVES)

11 (SACs) 

(SAC1 SAC2 SAC3) 

OB SAC1 SAC2

OB SAC1 SAC2

SAC1 OA AL 
SAC2 AH AH AL 

OB OD
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SAC1 
SAC2 OD SAC3 

11 : 12 : 

12, 

OM LAC G 
SAC2 AC OM 

SAC2 G 

OM SAC2 
SAC3 SAC2 OV

SAC3 OV 
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LAC SAC LAC 
‘‘OQ’’

‘OQ’ 
‘OQ’ 

‘OQ’ LAC SAC 
SAC4

SAC4 

‘U’ (Explanation of the “U”
shape of the long run average cost curve) LAC ‘U’ 
LAC 

LAC 

(LAC)

Envelope

U-shapedU-shaped

L-shaped
L-shaped
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(ECONOMIES AND DISECONOMIES OF SCALE)

(The Scale of Production)

(Internal Economies and Diseconomies) 

(i) (Technical economies and diseconomies)

(ii) (Managerial economies and diseconomies)
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